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(1) (5x—2y+3)X (—3y)
=5 xx(—3y) —2yx (=3x) +3x (—3y)

=—15xy+t6y2—9y

—15xy—6y?—9y

(3) (x+5)(x—3)—(x—2)(x+1)
=x*+2x—15— (x*—x—2)
=x*+2x—15—x*+x+2
=x‘—x*+2x+x—15+2
=3x—13

2
(2) (ba’b—12ab? + (— 5 ab)
— 2 hH — 2) x (—
(a2b—12ab?) x( 2ab)
_ _6a?bx3 12ab2x3
N 2ab 2ab
=—9a+18b
—9a+18b
3x—183

(4) (2x+4y)(2x—4y)—3(x+y)°®

4 x*—16y°’—3x*—6xy—3y°*
=4)(2—3)(2—6)(y—‘l6y2—3y2

=x*—6xy—19y°
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(1) (3x+2) (3 x+3)
(3x) "+ (2+3) x3x+6
=9x°+15x+6

9x*+15x+6

(3) (3 x+5y)°?
(8x) *+2x5yx3x+ (5y) °
=9 x*+30xy+25y°

9x*+30xy+25y?

= (2x) = (4y) *=3 (x*+2xy+y?

X?—6xy—19y?

(2) (10—2%)*
=100—2x10%x2x+ (2 %) ?
=100—40x+4x?

100—40x+4x°*

(4) (a+b—5) (a+b+5)
atb=M&FT DL, LEDOAIE
(M—5) (M+5) =M°—5° &#H3,
MZa+blZRETE (a+b) *—25
=a’+2ab+b?—25
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a’+2ab+b?®—25




